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Test of Chinese as a Foreign Language: Reading
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You have 60 minutes to work on this test. There are a total of 50 test items.
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You must indicate your answers ON THE ANSWER SHEET. Answers written on the question
booklet will not be graded.
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Once the test begins, you may not leave the test room. If you have any questions, please

raise your hand. The test proctor will help you.
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When the test is over, please put your question booklet and answer sheet on the desk. Please

do not leave until the test proctor have collected all of the test materials.
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Part One

(5 1~15 47)
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Directions: In this part of the test, each test item will include one sentence and three pictures (A), (B),
and (C). Please choose the picture that best describes the sentence.
] 484 Example -
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You will see one sentence and three pictures.
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The correct answer is (B). Please fill in the corresponding circle on your answer sheet.
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Part Two

(5 16~30 47)
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Directions: In this test part, each test item will show a picture. Please choose the single best description
from answers (A), (B), or (C).

] 48 4 Example :
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You will see one picture and three sentences.
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The correct answer to this test item is (A). Please fill in the corresponding circle on your answer sheet.
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Part Three

(5 31~40 31
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Directions: This test part is divided into sections. Each section has one picture and five sentences.
Please choose the answers that best describe each picture.

5] A5 4T Example -
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You will see one picture and five sentences.
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The correct answer to Question 1 is (A). Please fill in the corresponding circle on your answer sheet.
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Part Four

(5 41~45 57)
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Directions: In this test part, you will read a short passage. The passage has five blank spaces. Six
possible answers for the blank spaces are provided under the passage. Please choose the best answer for

each blank. Note that each answer can only be used for one blank space.
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You will see one short passage and six options.
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The correct answer to Question 1 is (B). Please fill in the corresponding circle on your answer sheet.
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Part Five

(% 46~50 1)
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Directions: In this test part, you will read several passages. Each passage will be followed by a
question. Please choose the correct answer according to the passage.
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| see one short passage, one question and four possible answers.
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The correct answer to Question 5 is (C). Please fill in the corresponding circle on your answer sheet.
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